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*Check test code ZH& 2]

(2= 0[8).q
#include <check.h>

START_TEST(HAE O|E 1)

{

HAEWE
}
END_TEST

START_TEST(EH|AE 0|2 N){ HHAE L 21END_TEST

Suite *
my_suite(void)
{
Suite *s = suite_create(Suite 0| &);
TCase *tc = tcase_create(TCase O] %);

tcase_add_test(tc, HHAE O| & 1);

tcase_add_test(tc, H| 2 E O|& N);
suite_add_tcase(s, tc);

returns;

}

int main(void)

{
Suite *s = my_suite();
SRunner *sr = srunner_create(s);
srunner_run_all(sr, CK_ENV);
return o;

}

cygwin

$ CK_VERBOSITY = ("silent"/"minimal"/"normal"/"verbose" & StLt) /(2

=

=

ol

=
c

)




nt main(){

currentshta
nnt Curre

clean

return [§;

id clean{int®



http://egloos.zum.com/studyfoss/v/5346826
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& ~/scgongCunit/CUnit-2.1-2 s O %

fint clean(int* statel, int* water);
void test_clean();

static int InitSuitel();

static int CleanupSuitel

typedef struct{
int water;/
int beans;/
int coffeePowd
13

}currentStatus;

CU_TestInfo test_arrayl[]={

E [’ 1",clean},

N CU_TEST_INFO_NULL

5

CU_SuiteInfo suite_array[]l={

', InitSuitel, CleanupSuitel,test_arrayl},

)

if
{"sui
CU_SUITE_INFO_NULL

1-
I

static int InitSuitel({
return [ij;

1

static int CleanupSuitel(){
return [ij;

1

J

int main({

//currentStatus s = {1000
//int currentState = [i];/,

//clean(&currentState, &(s.water));

if (CUE_SUCCESS != cu_initialize_registry())
return Cugget_error();

CU_register_suites(suite_array);

CU_basic_run_tests();

test_clean();

CU_cleanup_registry(

return [i;
1
J

int clean(int* statel, int* water){ //statel2

if(*statel==i) {//| 7 FE W oC D

if (C‘water <




E ~/sogongCUnit/CUnit-2.1-2 - O ®
return [I;

int main(){

‘currentStatus s =
int currentState = [i;

Tean(&currentState, &(s.water));
it (CUE_ != CU_initialize_registry
return CU_get_error();
ster_suites(suite_array);
CU_basic_run_tests();
test_clean

CU_cleanup_registry(

return [;

int clean(int* statel, int* water){

if(*statel==) {, o 7|

I
return -

return [I;

1

L

else{
printf(
return

id test_clean(Of

currentstatus s
int currentsState

&currentstate, &(s.water)) ==

ean(&currentstate, &(s.water




i ogongCunit/CuUnit-~Z.
$ ./mainTest

CUnit - A unit testing framework for C - Version 2.
http://cunit.sourceforge.net/

Run Summary: Type Total Ran Passed Failed Inactive
suites 1 1 n/a 0 0

tests 1 1 1 0] 0

asserts 0 0 0 0 n/a

Elapsed time = 0.000 seconds
X

e ) 2 U O .assertion "NULL != f_pCurSuite" failed: file "TestRun.c", line 159
, function: CU_assertImplementation
Aborted (core dumped)




